XYZ,=97.45,100.0 , 95.98
A=25a-a)Y
B=258,(b-b)Y

ol (x=x,) 14
b=bylz/y

3= 1, by
X, = 0,000, B
szlAquIJ?z
6 OstwaldFarben (o)

-04
1,000

1004

t B

Parameter:

Y & Name
Lichtart P55
Y,,=100 Y\=4

von (m)C,g im
Buntwertdiagramm (A, B)

Lichtart PS5, Y, =100 Y,=4
Name Bereich X, Y, Z, X,

R, 569_775 654 42.64 398

~100 )

o 2, OGO,
0.5837 0.3806 507 490
V4 494 775 52.28 9494 957 04403 05081 572 404
G} 494 560 2067 554 957 02403 06493536 536
€1 380_569 35,05 61.45 9594 01863 03176 450 507
51 380.454 19,07 915 903 0.1616 0077144 572
W, 569_454 80,57 47.69 9035 0.3685 02161 536053
W)380.775 57,45 1000 9596 03321 03407 100%

N, 380_775 389 40
2, 380_775 17.54 180

383 03321 0.3407 4%
17.27 03321 0.3407 18%
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